5 | 6 | 7 |

8

i
L2

A Lock Nut

Drrrsrsrssss

B Washer

REV. DESCRIPTION DRAWN CHECKED

APPROVED

A NEW RELEASE JLZ 10/23/23 N

Notes:
Specifications:
1. Temperature: -40°C~+100°C.
Materials:
1. Material:Parts A,C,F are made of Brass;Part E are made of Nylon;
Parts B and D are made of NBR.
Product Number Code:
DS1170-06 — X X X

Assembled e
LSeal color
D Seal E Claw F Sealing Nut B: Black
C Body Plating type
N: Nickel
Model Cable Range Thread O.D. Thread Length Joint length Spanner Size(mm) Model
(mm) L1(mm) L2(mm) H(mm) PG7 PG9 PG9

PG7 3~6.5 125 7 19 = \N ! N 1 O aa-™
PG9 4~8 15.2 8 20 18 PG42 PG48 PG63
PG11 5~10 18.6 8 21 20/21
PG13.5 6~12 20.4 8 22 22
PG16 10~14 22.5 9 23 24
PG19S 10~14 25 9 25 24127
PG19 8~16 25 9 25 27
PG21 13~18 28.3 9 27 30/32
PG21S 9~16 28.3 9 27 30/32
PG25 15~22 32 10 29 35
PG29 18~22 37 1 31 40
PG36 25~33 47 12 37 50
PG42 32~38 54 13 38 57
PG48 37~44 59.3 14 38 64
PG63 42~52 72 15 42 78

& . 4

-~ o ~

“& SR ; GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION @—E} M Metallic fixed cable gland PG type

S X.  +0.60 X.  %5° UNITS mm

' 3 X £0.38 X %3 SHEET SIZE A4 [SERIES [DS1170-06 SERIES
XX £0.25 XX x2° =
DRAWING TYPE|CUSTOMER <@ = ﬁﬂ E@ ? ﬁ l}E Z\ ﬁ‘]
(Series Image-Reference Only) SCALE 1 |SHEET |1 OF 2
9 Y DRAWING NO. |C—DS1170—06—XXX—A connfFLy
1 2 I 3 4 | 5 6 7 8



Administrator
新建图章


2 3 4 5 I 6 I 7 I 8
Dez)ty REV. DESCRIPTION DRAWN CHECKED APPROVED
R A NEW RELEASE JLZ 10/23/23 e
ED |1
IE |1
1SO |1
PD |1
R&D|1 Notes:
SD |1 Specifications:
AN 1. Temperature: -40°C~+100°C.
Qc |1 A Lock Nut B Washer Materials:
QE [1 1. Material:Parts A,C,F are made of Brass;Part E are made of Nylon;
w5 - Parts B and D are made of NBR.
2358 L2zz277277 Product Number Code:
it 5 DS1170-06 — X X X
23%5%
233 23 Assembled s Seal color
a8’ B: Black
ZE8, L2
3285 D Seal E Claw F Sealing Nut Plating type
§§§§ C Body N: Nickel
FEgo
L Model
235, Model | Cable Range | Thread 0.D.| Thread Length | Joint length | Spanner Size Model |Cable Range | Thread 0.D.| Thread Length | Joint length | Spanner Size M6x1 M8x1 M10x1 M12x1.5 M14x1.5
&> E 5 (mm) L1(mm) L2(mm) H(mm) (mm) (mm) L1(mm) L2(mm) H(mm) (mm)
oy e M6x1 1-35 6 5 11 8 Ma2x15 | 22~30 42 1 35 45 M88x2 M120x2 M125x2 M150x2
2847 Mex1 2-55 8 5 16 12 M42x2 22~30 42 11 35 45
BEge M10x1 3~6.5 10 7 19 14 M47x1.5 25~33 47 11 37 50
£33 M12x1.5 3~6.5 12 7 19 14 M47x2 25~33 47 11 37 50
gssd2 M14x15 | 48 14 8 19 17 M48x1.5 |  25~33 48 11 37 50/52
§hbe M16x15 | 4-8 16 8 20 18 M48x2 25~33 48 11 37 50/52
si6L M18x15 | 5-10 18 8 21 20 M50x15 | 32~38 50 12 37 55/57
Bitg M20x1.5 6~12 20 8 22 22 M50x2 32~38 50 12 37 55/57
{23 M22x1.5 10~14 22 9 23 24 M54x1.5 32~38 54 12 38 57
%; 3 %g M24x1.5 10~14 24 9 25 24127 M54x2 32~38 54 12 38 57
jois M25Ax1.5|  10~14 25 9 25 24/27 M56x1.5 32~38 56 12 38 57/59
gj%g M25Bx1.5]  8~16 25 9 27 27 M56x2 32~38 56 12 38 57/59
zEo% M25Cx1.5| 13~18 25 9 27 30/27 M60x1.5 37-44 60 13 38 64
ZE2a M27x1.5 13~18 27 9 27 30 M60x2 37~44 60 13 38 64
ZeEs M27x2 13~18 27 9 27 30 M63x1.5 37~44 63 13 38 64/68
g z%" M28x1.5 13~18 28 9 27 30 M63x2 37~44 63 13 38 64/68
N M28x2 13~18 28 9 27 30 M64x1.5 37~44 64 13 38 64/68
o8Ee M30x1.5 13~18 30 9 29 30/32 M64x2 37~44 64 13 38 64/68
S35 M30x2 13~18 30 10 29 30/32 M72x2 42~52 72 15 42 78
G283 M32Ax1.5|  15~22 32 10 29 35 M75x2 45~55 75 15 42 78
8oes M32Bx1.5|  16~20 32 10 29 35 M80x2 50~62 80 18 46 86/88
g8 5% M32x2 15~22 32 10 29 35 M88x2 60~70 88 18 46 %8
5 M33x1.5 15~22 33 10 29 35 M100x2 70~80 100 20 50 110
; ié LZ M33x2 15~22 33 10 29 35 M110x2 80~90 110 20 57 120
M) M36x1.5 18~25 36 10 31 40 M120x2 90~102 120 20 57 135
8fse M36x2 18~25 36 10 31 40 M125x2 98~108 125 24 65 135
5 Z E ; M37x1.5 18~25 37 10 31 40 M150x2 110~125 150 25 70 160
2s’8 M37x2 18~25 37 10 31 40
e M40AX15| 18-25 40 1 31 40/45 GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @—F [TITLE o
285 MA0Bx2 1825 20 P 3 20025 UNITS Metallic fixed cable gland M type
BE.D M40Cx15|  22-30 40 & 35 5 X. +0.60 X. +5° mm
N MA0DX2 5730 0 " 35 yra X +0.38 X +3° SHEET SIZE A4 SERIES | DS1170—-06 SERIES
§§Z§ XX £0.25 XX x2° .
i DRAWING TYPE [CUSTOMER & }% ﬁﬂ E@ ? ﬁ |§E Z\ ﬁ]
5a%3 SCALE 1:1  [SHEET |2 OF 2
N DRAWING NO. |C—DS1170—06—XXX—A connfFLy
2 3 4 | 5 6 7 8




